|Downloaded Application should be sent along with a DD for Rs.300/- towards Cost of Application|

Sl. No.: 10.00Tg:wet§ 1D;tseo pm H.T.No.
26-07-2015 to be filled in by Office
ANDHRA UNIVERSITY : VISAKHAPATNAM | Price: Rs. 300/-

(including Regn.
SCHOOL OF DISTANCE EDUCATION & Test Fee)
APPLICATION FORM FOR ENTRANCE TEST FOR ADMISSION
Into Three Year and Two Year MBA / (Marketing / Finance / HRM) /
MBA (Hospital Administration)/ MCA PROGRAMME 2015-201

Note : The applicant should go through instruction book-let first and then fill in Latest Passport size
the form in his/her handwriting in English. Photograph to be
. . . . . affixed and duly
Examination Centre: (seeinstructions Book-let for details) attested by

Srikakulam /Visakhapatnam / Gajuwaka/ Kakinada//Rajahmundry / Vijayawada/Hyderabad | Gazetted Officer
(Please tick(P) the examination centre)

1. Name of the Applicantin full : Surname ’\2;-6 an?éJe

(in Block Letters)

Name

2. Name of the Parent/Husband :
3. Address for Communication

(in Block Letters) i

Pn

4. Date of Brith : Contact Phone No.:

(Enclose attested Certificate) Day Month Year CellNo. :

e-mail :
5. Do you claim reservation under any one or more of the following categories? If so, put tick mark (1) in the
appropriate box.

SC | ST | BCA BCB BCC BCD | OBC NCC | NSS/AES | SPORTS PH DEFENCE WOMEN ANYOTHER
01| 02 03 04 05 06 07 08 09 10 11 12 13 SPECIFY 14

Enclose Xerox copies of Certificates in support of the above claim.

6. Details of Qualifying Examination

Passed. Name of the Examination | Year of Passing Name of the University

7. Work Experience : Supervisory /
Managerial / Professional ( Enclose
the Service Certificate signed by the
employer as per the proforma given
in instruction book-let).

Name of the Organization Designation Years of Service

| hereby declare that the particulars supplied by me are correct to the best of my knowledge and will be supported by original documents
when called for. | have carefully gone through the instruction book-let and have become fully conversant with the eligibility criteria to be satisfied
for appearing at the entrance test. | fully realise that the issue of Hall Ticket for the Entrance Test does not absolve me of the responsibility of
satisfying the eligibility criteria for the entrance test and for admission into MBA/MCA Programme.

Place:
Date : Signature of the Applicant

Note : Candidates who have put in 5 years of service after graduation as on 1st July of the year of admission or those who
qualifed in ICET need not appear for this test and can seek admission directly.






ANDHRA UNIVERSITY : VISAKHAPTANAM

SCHOOL OF DISTANCE EDUCATION

APPLICATION FORM FOR ENTRANCE TEST FOR ADMISSION
INTO THREE YEAR & TWO YEAR MBA (Marketing / Finance / HRM) /
Three Year MBA (Hospital Administration) / MCA PROGRAMME 2015 - 2016

Time & Date : 10.00 am to 12.30 pm 26-07-2015 Hall Ticket No. :

HALL TICKET

Test Centre :Srikakulam / Visakhapatnam /Gajuwaka / Kakinada / Rajahmundry / Vijayawada / Hyderabad.

(To be filled in by the candidate in his / her own handwriting and to be submitted along with the application)

1. Name of the Candidate
(in Block Letters)

Latest Passport size
Photograph to be
affixed and duly

3. Identification Marks a) attested by

Gazetted Officer
b)

2. Name of the Parent / Husband

| do hereby attest that the candidate has signed in my presence.

Signature of the Attesting Officer
With official stamp Signature of the Candidate
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(in Block Letters)

Latest Passport size
Photograph to be
affixed and duly

3. Identification Marks a) attested by

Gazetted Officer
b)

2. Name of the Parent / Husband

| do hereby attest that the candidate has signed in my presence.

Signature of the Attesting Officer
With official stamp Signature of the Candidate



10.
11.
12.
13.

INSTRUCTIONS TO THE CANDIDATE

Candidates are advised to be present in the test hall 15 minutes before the commencement of the test.

Candidates will not be admitted to the Entrance Test after 30 minutes of the commencement of the test. Candidates once admitted will
not be allowed to leave the hall till half-an-hour before the closing time of the entrance test.

Hall Ticket shall be produced at the gate of the test centre and also in the hall at the time of the test, failing which the candidate will not
be allowed to appear for the Entrance test.

PLEASE NOTE : YOUR SCRIPT WILL NOT BE VALUED IF YOU WRITE ANY IRRELEVANT MATTER OR SYMBOLS, INCLUDING RELIGIOUS
MARKS AND SYMBOLS, PRAYERS OR ANY COMMUNICATION WHATSOEVER, ANYWHERE, EITHER ON THE COVER SHEET OR INSIDE
THE SCRIPT.

ANSWER MUST BE WRITTEN IN BLUE/BLACK INK FOUNTAIN OR BALL PEN ONLY (SKETCH PEN, PENCIL OR INK OR ANY OTHER
COLOUR ISNOT ALLOWED)

HALL TICKET MUST BE PRESERVED TILL THE TIME OF ADMISSION OF THE COURSE.
No. T.A. and D.A. will be paid for any journey undertaken by the candidate for the Entrance test.

Adoption of any kind of unfair means at the time of Test or any act of impersonation will result in invalidation of his / her script and
forfeiture of his / her claim for taking the Test besides criminal action as per law. Decision of the Chief Superintendent of the Test Centre
shall be final on these matters.

Issue of Hall Ticket appearance at the test, does not automatically entitle a candidate for admission.

Calculators or any other aids are not allowed in the Test Hall.

Any rough work is to be done only on the blank sheet provided for the purpose in the Test Booklet.

Attestation on the Application Form and Hall Tickets can be made by any Gazetted Officer / Principal of a College / A University Professor.

Each question will have four alternative choices with one correct / appropriate answer. Candidate has to choose correct / appropriate
answer and has to write its number in the relevant question number box on the answer sheet. If any alteration is to be made, strike off
the previous one and write the correct number neatly in the box.

(Cell Phones are strictly prohibited in the Examination Hall)
Answers with overwriting will be ignored while awarding marks.
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ANDHRA UNIVERSITY

Time & Date
10.00am to 12.30pm

SCHOOL OF DISTANCE EDUCATION 26-07-2015
VISAKHAPATNAM 530 003 : ANDHRA PRADESH
MBA (Marketing / Finance/ HRM) / MCA / MBA (HOSPITAL ADMINISTRATION) TEST

INSTRUCTIONS BOOK-LET
Last date for receipt of filled in application form  : 09-07-2015 Upto 5.00 p.m
Eligibility for appearing the Test :

A) 3- Year MBA :

a)  Hospital Administration Any graduate except BFA and BAOL of Andhra University or any other

b)  Marketing Managament | University recognised by Andhra University as equivalent there to, with

C) Finance Management 50 per cent marks (SC /ST / BC candidates with 45% marks) is eligible.

d)  Human Resources Further, he / she must also have studied Mathematics as one of the subjects

Management at SSC/ X class / Intermediate level. The candidate, with professional

gualification like BE./B.Tech/ B.Pharm / Medicine / CA/ICWA/CS/AMIE
/AIETE, etc. are also eligible.

B) 2 -Year MBA:
a)  Marketing Management* Any graduate except BFA and BAOL of Andhra University or any other
b)  Finance Management University recognised by Andhra University as equivalent there to, with 50
C) Human Resource per cent marks (SC/ ST/ BC candidates with 45% Marks) is eligible.
Management Further, he / she must also have studied Mathematics as one of the subjects

' at SSC/ X class / Intermediate level. The candidate, with professional qualifi

cation like BE/ B.Tech / B.Pharm / Medicine/ CA/ICWA /CS/AMIE /

AIETE, etc.are also eligible.

Besides the above, the candidates, who have 2 years in - service experience

‘ in an organization, after graduation as on 1st July, 2015, can seek admission

in 2 - year MBA course (Marketing / Finance / HRM).

Note : Candidates, who qualified in ICET - 2015 or the Candidates, who completed 5 years of service after graduation in
the respective fields, need not appear for Entrance Examination and can seek admission directly.

C) MCA: i) Educational qualification : Candidates should have passed Bachelor's degree in any faculty, except BFA
and BAOL of Andhra University or any other University recognised by Andhra University as equivalept
there to, with 50% marks (SC / ST / BC candidates with 45% marks) besides passing Intermediate or +3
examination with Maths as one of the subjects of study.

ii)  The Course of Study for MCA Programme shall extend over a period of three Academic Years. However in
case of candidates with PGDC PA of AU, the study period is two years.

Note : Candidates, who qualified in ICET - 2015 need not appear for Entrance Examination and can seek admission directly].

1. Schedule of dates :

a) Commencement of sale of application forms : 18-06-2015

b) Last date for receipt of filled in application form 1 09-07-2015

c) Last date for receipt of filled in application formWith a fine of Rs 300/- upto : 20-07-2015

d) Date and time of Entrance Test : 10.00 am to 12.30pm. 26-07-2015 (Sunday)
1. Cost of application form for Entrance Test :Rs. 300/- (By Hand)

(Inclusive of registration and test fee) :Rs. 350/- (By Post)

Application must be affixed with an attested passport size photograph taken after 01/01/2015. Candidates indulging
in impersonation are liable for prosecution inviting a punishment of imprisonment of 3 to 7 years with or without fine ranging
from Rs.5000/- to Rs.20,000/-.

V. Medium of Test : English only
Hall-tickets will be issued to candidates in person one day before the commencement of the examination at the respective centres.
Examination Centers : 1) Govt. Arts College for Men, Srikakulam

2) School of Distance Education, A.U. Campus, Visakhapatnam.

3) TSR & TBK Degree College, Gajuwaka, Visakhapatnam.

4) PR Govt College, Kakinada

5) Govt. Arts College, Rajahmundry

6) Satavahana College, Chuttagunta, Vijayawada.

7) R.G. Kedia College of Commerce, Near New Chadarghat Bridge, Hyderabad.

The number of seats are limited. Rule of reservation will be followed as per the norms of the University. Rank

obtained in the test will be valid for admission into MBA (Marketing / Finance / HRM / Hospital Administration) / MCA course
offered by the School of Distance Education, Andhra University for the academic year 2015-16 only.

* Candidates can also download the application form from our website WWW.andhrauniversity.edu.in/sde. However they
have to pay Rs. 300/- by way of DD drawn in favour of Registrar A.U. towards cost of application form and submit the same
along with the application. 7



http://www.andhrauniversity.edu.in/sde

SERVICE CERTIFICATE

(To be signed by Head of the Department / Employer)
The certifying authority is solely responsible for any incorrect information)

This is to certify that Sri/ Smt./ Kum

S/o D/o W/o. is working in our Office / Institution as

from to till date (Total Service. Years Months Days as
on the last date of submission of application form. His / Her Scale of pay is Rs. and his / her
gross salary is Rs. PM (Rupees ). His / Her

Services are found to be Good / Satisfactory during the above period.

We have no objection to Sri/ Smt/ Kum

joining in MBA / MCA Programme offered by School of Distance Education, Andhra University if given admission.

Place : Signature :
Date: Designation:
Office Seal :

* Applicable to the candiates who are seeking admissions into two year MBA Programme.
CHECK LIST:

Enclose the following with Application form :
1. Xerox Copies of Service Certificate from Head of the Department/ Employer. (incase of two year MBA Programme).
2. Degree Certificate / Provisional Certificate of qualifying examination. ( Xerox Copy Only).

2a. Intermediate or +2 examination certificate (in case of MCA Programme)
3. S.S.C. or equivalent certificate with Date of Birth
4. Xerox Copies of Caste Certificate in case of SC/ST/BC Candidates.
5. Two Self-Addressed envelopes of 9" x 4" size.

Note : Original Certificates are to be produced at the time of admission.



INFORMATION ABOUT THE TEST

General Information : The test is designed to measure the candidate's ability to think systematically, to employ the
verbal and mathematical skills and to assess his/her aptitude for admission into MBA / MCA Programme. The Test
emphasies accuracy. Therefore, the candidate is required to go through the instructions carefully. This is an objective
type test and the questions are of multiple choice. Out of the given options, the candidate has to choose the correct
answer. If the Candidate gives more than one answer to any question, such answers will be ignored while awarding
marks.

PATTERN OF THE TEST : The test consists of 200 questions of 1 mark each in the following topics:

Section-A : Analytical Ability No. of Questions
i. Problem Solving 55
ii. Data Sufficiency 20
Section-B : Mathematical Ability
i. Arithmetical Ability 35
ii. Algebricaland Geometrical 30
Ability .
iii. Statistical Ability 10 DURATION OF THE TEST :
Section-C: Communication Ability 2 1/2HOURS (150 MlNUTES)
i. Vocabulary 10
ii. Businessand Computer 10
Technology
ii. Functional Grammer 15
v. Reading Comprehension 15
ToTal 200

IMPORTANT INSTRUCTIONS TO CANDIDATES::
1. Candidates are directed to carry to the examination hall the following:

a. Ball Point Pen (Blue or Black).
b. Oneor Two HB Pencils

c. Eraser(Rubber): and

d. Sharpener.

2. Besidesthe items listed above, the candidate should not bring any other material including the instructions booklet
into examination hall. Candidates should not bring Papers, Cell Phones etc., into the examination hall. Any candi-
date found in possession of any forbidden material, will be sent out of the examination hall.

3. Candidates must remain seated in their alloted places till the completion of the examination. In no case they will be
allowed to leave the examination hall till the end of the examination. Before leaving the examination hall, the
candidates must return to the invigilator both the question paper booklet and the Answer Sheet.

4. Every candidate appearing for Entrance Test shall be provided with a specially designed return answer sheet on
which the candidate has to mark the answers and other relevant data. The method of marking the answers is
illustrated in this section.

Candidates shall read carefully the instructions before starting to answer the questions.

The question paper booklet given to the candidate shall consist of 200 multiple choice type questions in three
different sections with four responses given to each question, out of which only one response is correct for the given
guestion. Candidates shall mark the correct answer in answer sheet.



SYLLABUS AND MODEL QUESTION PAPERS

Section - A Analytical Ability : 75Q (75 Marks)
1. Data Sufficiency : 20Q (20 Marks)

A question is given followed by data in the form of two statements labelled as | and II. If the data given in | alone is
sufficient to answer the question then choice (1) is the correct answer. If the data given in Il alone is sufficient to answer
the question choice (2) is the correct answer. If both | and Il put together are sufficient to answer the question but neither
statement alone sufficient, then choice (3) is the correct answer. If both | and Il put together are not sufficient to answer
the question additional data is needed, then choice (4) is the correct answer.

Problem Solving 55: Q (55 Marks)
a) Sequences and Series 25 : Q (25 Marks)
Analogies of numbers and alphabets, completion of blank spaces following the pattern in a:b: :c:d relationship; odd
thing out: missing number in a sequence or a series.
b) Data Analysis: 10 Q (10 Marks)
The data given in a Table, Graph, Bar diagram, Pie Chart, Venn Diagram or a passage is to be analysed and the
guestions pertaining to the data are to be answered.
Coding and Decoding Problems 10: Q (10 Marks)
A code pattern of English Alphabet is given. A given word or a group of letters are to be coded or decoded based on the
given code or codes.
Date, Time & Arrangement Problems : 10 Q (10 Marks)

Calender problems, Clock Problems, blood relationships, arrivals, departures and schedules: seating arrangements,
symbol notation interpretation.

Section - B: Mathematical Ability : 75 Q (75 Marks)

I. Arithmetical Ability : 35 Q (35 Marks)

Laws of indices, ratio and proportion; surds; numbers and divisibility, 1.c.m. and g.c.d; Rational numbers,; Ordering;
Percent Profit and loss; Partnerships, Pipes and cistems, time, distance and work problems, areas, and volumes,
mensuration, Modular Arithmetical.

Il. Algebrical and Geometrical Ability : 30 Q (30 Marks)

Statements, Truth tables, implication, converse and inverse, Tautologies-Sets, Relations and functions, applications,
Equation line in different forms. Trignometry - Trigonometric ratios, Trigonometric ratios of standard angles

(0°,30°,45°,60°,90°%) Trignometric identities: simple problems on heights and distances Polynomials; Remainder theorem
and consequences; equations and expressions; Progressions, Binomal Theorem, Matrices, Notion of a limit and deriva-
tive Plane geometry. Triangles, Quadrilaterals, Circles, Coordinate geometry-distance between points and

lll. Statistical Ability : 10 Q (10 Marks)

Frequency distributions, Mean, Median, Mode, Standard Deviation, Correlation, Simple Problems on Probability

Section-C: Communication Ability : 50 Q (50 Marks)

Objectives of the Test

Candidates will be assessed on their abiltiy to

1. Identify vocabulary used in the day-to-day communication.

2. Understand the functional use of grammer in day-to-day communication as well as in the business contexts.

3. ldentify the basic terminology and concepts in computer and business contexts (letters, reports, memoranda,
agenda, minutes etc.)

4. Understand written text and drawing inferences.

Part 1: Vocabulary 10Q (10M)

Part 2 : Business and computer terminology 10Q (10 M)
Part 3: Functional Grammer

Part 4 : Reading Comprehension (3 Passages) 15Q (15 M)

10



M.B.A. / M.C.A. ENTRANCE TEST
MODEL QUESTION PAPER

Time : 150 Minutes Marks: 200

SECTION - A
__(Analytical Ability) Marky: 75

Data

eyl

Dircetions for yuestions | 1o 20: Each question is followed by two statemats ] and I Answer the
question vweing the following iisnx-tions.

Matk choies: 1.
2.
3

a.

If the question can be answered by the stutement | alone,

Il the statement IT alone is sufficient to answer the question.

[f both the statements ] and I are sufficient w unawer the question, but nefther of
thern alone iznot sutticient,

If both the statetents T and N together are not sufficient to answer this question and
additional dat is required,

1. Whatisthcaverapeola h e, d 7
L a+bte=ud—24

I, ﬁ{a+ﬁ+d}=49mﬂ%:5

For

What is Lhe average ageof 4, B 7

I. Theirages ditfer by 8
. “Thesum of theirages is 18

3. HowoldisMrX?
[. The reliremert age of M X 1562 yeams
Il MrX will petire in ten years

4. Inhow many days Mr A alone can complete the work ?
[ Aand Btogether can complete the work in 20 days
1. Atakes 50 days more than B 1o complete the work alons

3 How many students in the class are befl-handers ©
1. 80%of the studems are g handers
H. 40% oflcft handets ate girls

6, Howmuch profit Mr A earns by scliing 26 motorbikes 7
I Fach motor bike is sold st Rs, 49,000
Il. Eachmotorbike has maximum speed 100km, ph.

7. What iz thevolume of'the ghi eireular cone 7
I The semi vertical angle ofthe sone is 3¢°
II. The lateral surface area of the, conc is 20 sq. units

R.  Whois tallest among X, Y, Z 7
[ XistallerthenY
Il, Zistialler than'Y

9. Does 8 divide A?
I Aisdivisible by 24 -
N, Aisdivisible by 66

11



10.

1.

13.

13.

14.

15.

16.

17,

18.

19,

20.

fs ¢ an integer 7
1. & isanegative mteger
I 4 isanimecger

What is the value of o +5° 7
L aib=10

B & ygh4b* =15

What is the value of sced Fian é ?
| secl@+tan’d -5
. secH-tan@ =35

What is the slope of'the line L 7
1. The line L js passing throughthe point (7, 5)
IT. Theline [.3s perpendicntar tothe line 2x—3y+15=0

Iz o am irmational nutiher ?
I o isamtional number
. <t iwa rational momber

WhalisAtaBY
. BizabrotherofA
I A isthe father of Mr X.

Whal 18 the urea of circle C 7
I Arca ofthe square 8 i3 49 3q. inches
1. The dismeter of citele C is equal to the perimeter of the squate

How marny factors the positive Integer X have?
1 The aumber of fuctors of X2is 13
M. X isnofa prime nusaber

s x—2y-~ 2%
L x-2y+z:=:0

il xi-i—yz b2t ogy—yr—mx =0

What i3 the product of the positive intepers mand n?
I lemofm nis3é
I ped ofm,misd

What is the first term in the sequence of numbcens ?

I Thegiven sequence ol aumber arein Adthmetic PrOgmession
II. The sceond team in the sequence is 5 and the last team is 63

12



(i} Problem solvigs:
{a) Odd thinpgs out, sequences and serics.
Tn questions 21 to 25, pick the odd things out:

21. 1) 15 2) 16 ) 63 4) 34

22. 1) GOAT 2y MALE 3) PIG 4) WOMAN
23, 1) (4,6,2) 7 (6,9.3) 3) (18,12, 6) 4) (16, 14,4)
24. 1) Rhombus 2) Triangle ) Square 4) Paraticlogram
25. 1y 256 2) 243 3) 625 4) 16

In each question oumbersd 26 to 33, asequence of numbers or Letters that follow adefinile pattern are
given. Each question has s blank space. This space has to be filled by the coerect answer from the four
glven aptions to complets the sequence withoart breaking the patiern.

12438 32 64

6. 535y 13717
g 12 16 16
—_ a— '.t 4 —_

27, ACK,REH,CGK, _ ,TKQ -

H DO 2y PHP 3) DIM 4) DIN
8. 2, 3, 4, 77, 24316

1) 8l 2) 6 3) 8 4 12
29. A,CF I, U

1y O 2 M 1) P 4) N
30, 1125:341:9; |

1) 3t 2y 8 1 7 417
1., A, Z B, Y, X

hE 3)T 3) C Huy
2. AB, DEF, LKL,

1) PQRS 2) OPQRS 3) OPQR 4) PORSY
33, 256:625: : .5

N2 2) 6 3) 4 4) 16
34, MILE:LAMB:: ___ :28

1) 37 2) 3% 1) 39 4 30
35, EQUATION: CURVE: :5: '

1) 4 2) 3 32 4y 1

13



®) Codingproblems:

36,

7.

38,

39,

40.

In acertain eode A, B, C, D, .... are coded by the following rules.

i) Vowelz are coded as 3 limes the pumber represented by them in the sequence
1,2.3, 4, ..... For example code for A13 3, Eis 15 ¢te.

(i} Consonants ure coded as 2 times the number represented by them in the sequence
1,2,3,4, ., Forexample B is coded ag 4, C as 6 and 50 o0,

(@) The code number of a word is (he sum of the codes of the letters irvolved mit.
Answer questions 36 to 40,

The code number of LION is

[y 124 2y 100 3) 136 4y 144
The eade number ol FTARE i3

1) 84 2) 61 3) 66 4) &8
The word with code number 39 15

1y CAT 7 TIk 3} MEN 4) RUB

Which of the following puirs ol words have same ende number
1) BEN, MAD 7) CAN, DET  3) PIG FEW 4 LIT, JUG

A twa letter word with code numbet 65 i2
1y UP DAl ) GO 418

1t acontain code, the eode number of a letter in the English aiphabet is defined as sum ofthe number
represerted by the consonants that come belode that letter when A, B, C, D, .. are piven numbers
1,23, 4 5 respectively. Now answer the following questions 41 10 45.

41.

42.

43.

44,

43,

The code numbser of the letter P is

1) 9 2y 100 3) 1o 4y 120

The code mumber of the letier [ iz

b 30 2) 36 3) 39 4y 43

The number ol letters with code number 76 is

0o N1 3 2 4 3

The leller(s) whose code number is 18015 (arg)

o 2 T.U ) UV H W

‘The number of pairs having sarne code number is (both the letters in the pair have same code
nuinbet)

1) 2 23 J) 4 4] 5

14
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Data analysis
The amount spent by a person under variows heads in a month is piven in the: following Pie chat
Bized on this information answer the following questions from 46 lo 50.

- -

46. “The amonat spent on I Touse rent is equal ko the amount spent on which of the following two heads.
1) Food und savings 2} Travel and miscellaneous
3) Havings and miscellaneows 4) Foud and entertainment
47. Tlthe savings of the personin a month is R, 8,800 then the amount spenit on Tlouse reat is
1) Rs. 14,00 2) B=. 14700 3) Rs 15400 4) Ra. 11,700
48. What pereent ofhis salary is spent on Miscellaneous 7
8 1 i
13 11— 13
1) 9 2 50 3} ) 4) 9
49. Il the menthly salary is Ra, 43,000, then te amount spent oo travel and T Towse real put together in
rupecs is
1) Rs 18,500 2) Ra. 12,5(M} 3) R=.11,250 #4) Rs. 7,500
50. Ifthe persan bas spent Rs. 4,500 on Food m amonth, his monthly income in nmees iz
1) Rs. 22 500 2) R= 18,000 3} Rs 24,000 4) Ras, 27,000
Directions for guestions 51 to 55:

Read the following information and answer questions 31 ta 55,

Ity a hostel thers are 500 students, {nt ofthem, 25() students read newspaper A, 200 students

tead newspaper B, 210 stdents read newspaper C. 50 read both A und B, 60 read B and C, 70 read
A and C and 20 read afl (uee newspapers.

3L

52,

a3

54

How miny studcnts read newspaper Aonly ?
1) 250 2y 200 3) 150 4y 210

How many studenis read newspaper B only ?
[l 200 2) 150 3) 130 4) 110

The number of students who read newspaper € alonc is
1) 10 2) 210 3y 150 4y 2006

The number of peaple who read exactly two newspapets is
1) 100 2 120 3) 180 4) 140
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55, How many people read at keast two news papers ?
17 100 2y 120 3) 180 4) 140
Pirection [op guestiops 56 to 60;

Reud the following information and answer questions 36 to 60.

The tollowing tuble pives the details of cmmnoditim?, 0, R, 5, | with their costs, required fora fumily
in amonth in the vear 2010, 2014,

56.

57,

38.

5%,

0.

(d}

61,

62,

63,

| Commodity f?uﬂﬂﬂtyra@:imd Rate pt:rll_cg In Fupees r
; | inamonth inkgs 2010 2014

[ P 40 30 50
L 10 60 80

I R , 5 120 130

‘ 5 15 50 25

S § i 20 60 75

The total amount spent on all the commoedities in the year 2014 inrupees is
1y 430 3) 5250 3 6375 4) 6125

The amount spent on I, R, & in the year 2010 is how much more than the urnount spent on Q.T
in Lhe vear 2074 inrupees is
1) 3000 3) 2000 3) 700 4) 1200

The percentage of the amount spent on P and (in (he year 2010 in the total amount spenl on oil
comumodities I that year is

1 ]
1y Mg 2) 75 3) 223 4) 45

The smount spent on €, R, T in both years put together in rapecs is
1y 3250 2y 3330 3) 2900 4y 2450

The percentage increase of (he (otal amount spenl in the year 2014 over the same in the year
200018

7 5 9 13

36. 3= 34 32 =
D 16 2) 16 3 14 4) 16
Pate, time and arraofeRent problems:

If 345=34, 42220, then d+5=

1y 44 2) 41 ) 48 4y 54

The smaller angle hetween e hours hand and minutes hand in & clock when the time is 9 hours 30
munuiles i3
Iy eg° 2y 105" 3 100" 4y 937

I£23™ Iyly 2002 is a Friday, then 28 Augrusi uf 2003 is
13 Friday 2) Saturday 3) Sunday 4) Monday
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64.

ba.

ba.

o,

nK.

i

70.

1.

72.

73.

74.

74.

Al whai tineg hetwveen 5 and 4 0clock will i U b Do at right angles 7

3.

1y 3 mimtespast 3 ) 1711 minutes past 3
e 3 B

Y 1‘?11 nrimutes pest 3 1) 3-3” minutes past 3

L' toclay ia Mondoy, what diay i1 wa 6% days before 7

1) Suiideay ) Monday 1) T‘Llﬁdﬂ}r 1) Wodnruday

1Fan year slurte with ' [veadny then what day will b 17 & pr (| of' thint vear, ifitis given Lhal ilix nol

A Ieap year?
1) Sursiny 2) Monday 1) Tuesday 4) Winladay

If a+h —£r+b+% and il & is & gon 7ary real number, then the valus of 5 Aatiafying

pvh—xin
1y 2} 3 B 4) -3

Tn & queus Rarm is BY [rom e fhoat while Shyam is 23" (rom Ui Last dtid Mg is in the middle
of thatwo. Tfthere are 80 persony in the quene, the position i Muers Iron (e fant is
i) 3 2y 24 %) 25 4) 26

I in the: mother of O ond R, 8 is the hustend of B, Then Pisrelated to & as
13 Dwauphite-in-lmy  2) Mather 3 Farhar-in-lnw § Motwr-in-law

Auand B ans childrsn of C, O 1 the wifie of D oo 1 iz Wi s of E whose hushond is F Then how
1% T related WA !
Iy Mother 2) Father 3y Omand-Lather 4y Grand-mother

Tf Piatnthe Morth o () amd R L o the Weszof 0. then in whal direclion 13 P with respect to L7
1y Morth Enst 2} Soulli-Wisl 9y Worth Wasl 4) Kouth-Fast

My, A les 4 b towords Seuth, then s left and walks 5 ke and e wans pight and walks
B kru ly poaeh the point B, The the distanuy betwen A and Bin kilomelers i

14 712 4313 N J4i

1'% popruscits £, = rgpresents +, 4. reprusents — and A reprasent mulliplication (), Then
(9w S)ALI - 3y = 16—

I 23 3} 3 4) 4

TF A represents division, B ropusents subtraction, © reproscata sddition and T) represents
rmukipticmion then .

(6 {(8D4)B3}] 45 isequa to

1) 3 7 5 3) 7 Hn e
25 20+10+5x2=

1 3
| = 4) 13
o, 2) 33 3 3 )



SECTION - B
(Mathcmatical Ability) Marks: 75

16

1.

8.

749.

0.

81

82,

83,

B4

85.

L1

By selling an article for Rs, 1980 a man gains 10%. To get a profitof 25%, the s¢lling price of (he
article shoutd be
1y Ra 2,100 2} Rs. 2,150 3) Es. 2,200 4y Rs. 2,250

‘I'he cost price of 12 pans is sume asselling price of 10 peng. Then what is the profil /loss 7
1} 20%profit 2) 30% profit 3 15% profit 4} 12% profit

If an article is sold at a profit of 15% instead of a profit of 12%, the seller pets Rs. 72 more,
The cost price of the article 13
1) Ra 1,800 1) Rs.2,100 3) Rs 2,400 4y Rs, 2,700

A hicycle was sold at aloss of 10%. [fitwere sold Rs, 630 more he would have got a profit of
8%, 'he cost price of the bigyele ix
13 Rs.3,000 2) Ra, 3,500 3) Rs. 6,000 4) Rs. 7,000

AL B, € arc partners in a business. A mvests Rs. | 800 for @ months, B invests Rs, 2,100 for
% months and C jrvests Ry, 2. 400 for 6 months. If there isaprofit of Rs. 1,580, what is the share
of C n the profi 7

1) Rs. 480 2) Ra. 360 3) Ks. 540 4) Bs 420

P starled a business with capilal 0fRs, 7,500, Aler ‘X' months. Q joins the buainess with i
capital of Rs. 10,000, Atthe end of the year, they shared Lhe profit in the ratio 38 then X =
N 8 . 2 4 39 A4) 3

The cquation of the ling passing through the point (7, -1) and perpendicudar 1o the line
Iy—Tx+5-_01is
1Y 7y +#3x=46 2y Tx+3y=406 N dx+TFy=14 4) Tx+3y=14

The ratio of lwo umbers a, A is 7:11, Atter adding 11 lo each number, the ratio is 15:22.
Than 2a~ 3=
11 301 Fy 329 3 378 4y 252

IL12% of 15% ofx is 54, thenx =
1) 1000 2) 1500 3) 2000 4) 3000

H1ICF of two numbers is § and the product of the nurmnbers is 896, their | KM s
1) 116 2) 124 3y 112 4 Nk

Auand D can doa pin:::;: of work o 10 days, B and C can do it in 18 days and, € und A can

complete itin 15 days. In how many days A slone can complete the work 7
13 12 2y 15 3 20 4) 18

18



87,

RS.

89,

),

21,

92

93.

93,

96,

2 tnen and 3 women can complete 2 pices of wozk in 10 days, while 3 men and 2 wonien can
complete the same work in 8 days. in how may days 2 mnen and one women can complete the

work 7
1
1) 125 2} 15
77 g3 =
1) 28¢ 2y 190

The binary code of a number is 1 T01€11, then the number in decimal code is

1 103 7) 105

Il wet A has 4 elernenits, ther the number of bissctions fromAlo Als

1 16 2) 24

1
3) 18 4 21,
3) 2890 43 1960
3) 9] 4) 107
3 8 4) 64

Let 2 be the set af all integers, Define arelation # on 7 by
R=liab)cZ=x2tqisa multiple of b} . Then Lhe relation K iz

13 reflexiveonly
3 reflextve and tranaitive

.1+ oost x
it — =

SR
2 1
_— 7 —_—
3 D3
. ¥ —Sx L4
Im}—--1| —_—
= —]
Iy 32 2y _3f2
bim & 12
L i
D 7 2 ¢

Ajs 4x4 matrix and det A =2, then det 24 -

1 6 2 12
i 350X —sin3s
.T—IE}P Iﬂ' T
) 4 2) —4

2} retlexive md symmetric

4) equivalence relation

3
3) 7 4] does not exist
3 —j 4) dacs not exist
3 4) does ot exist
3 24 4) 4%
3 3 4) does not cxist
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)
97. If A=|0 2 9|, thendetd=
¢t 0 4
e D8 1y 7
98, |F_],?-_ _:['T‘ thg‘nﬂ__
dy
et 2} 2 -log,x 3 x(l+1og, ¥)
: d
99, If ¥ - log,(tanx), mui’.
" L "
7 — 3) (seet)-
W nze 2) tan x ) .

100.Tf 4 iz 2 pon smygulyr matix of order 7 xn, then (Adid)y~! =

A
1) A 2 E:t.fi 3 A_I

101, The radius of the circle x7 + y? +8x | 6y +9=01s
1} 3 2y 4 3) 3

102, The image ol the point (0,—3) aboutthe line 2x  3y+4=10 18
17 (-4,% 2y (4,-3) 3} (-3

4) 16

4 -

sinx- con” x

_ A
4) (det A)

4) 6

4) {4, 3}

103. The slope of the line wherc intercerpt ait coordinate axes are -2, 3 respectively, is

1) 23 ) 2/3 N -3/2

104. The asca of the tianele with vertices  2,3), (0,43, (7, 5)in square units is

25

1y 25 ) 15 3) 2

105. The orthacenter of the triangle whose vertices are (-2, 53,7, 5). (-2, —6) is

5 -1
1) (7.5) D R) 3) [2= 1:]

106.1F cosd = —% and # iz notin 2nd quadrant, then tan & =

24 —74 7
n 7y — N o

20

4) 3/2

15
4) E

5
4 [5,5] .
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107, The maximuin valus of 3smx—4dcosx +6 s

1) 5 2 3 B H N3+6
108, The value of 8in 207 510 40° .5in 80" is equal 10
3 V3 J3
n = 2y XL By = 4
) 5 ) ) 3 ) 3

PO, From a peint at a distance of 140 meters from a pole, the angles of elevation of (he top of the pole
and the top ot a flay ulaff on the pole arc respectrvely 30° and 60°, Thets the lengih ol the flag studl

i rmelers s
| 200 100
' 7 2 3 10043 4) 2003
MO x=3+3* 1327 then x¥ 022 f18r+5=
111.11'x=?_"%. then x4 | —
2 X
14 2) J4s5 3 2445 4 7
M2 a3+42-6011 642 =
A 2y 2 3y 2 4 22
.
U313 =729, then - L5 _
2* —4
6 19 14 7
1) 7 23 4 3) T 4} A

114, If y= 28224, then the largest value of mr such that 2™ divides y i
2 2) 6 3 & 4) 3

15 If4A=SBund 7B = 17 then A C =
1y 28:54 2) 35:44 3) 5528 4) 4435

) 1 1 1
e wu:b:c—6:8-13then — - — 1 — =
a & ¢

1y 3:4:5 ) B:15:20 3y 5:4:3 4) 20:15:-8

H7.1F x =12 ecntimeters and y « 30 meters thenx -y =
1) 125 2y 401 N o251 4) 14

114, The largest perfect squere with 4 digits is
1) Gad4. 1) 9801 1) 9699 4y 99
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119, 1fapolynomial leaves remainders -2, —3 when divided by x + 1. x - 1 respectively, then the
rermuinder we get whet the same polynomial 1 divided by -1 1is
x+3 x—5 5 x —x- 5

1y ) 5 ) 4 —

120, The remainder we get when 3x° + 78— 35 isdivided by 2x—3 is
49 45 43

49
D D » 5 iy

11
121. The cocfficientof 2 in the expansion of | 3% xi] is

1} 111-3'35'43 2} 11‘,‘-31'4{1 . 1) ll{_:-j,i"..:;2 4y 11, 448

122, The oumber of lerms in (23—3.1’}” + {2#"'3}’)” is
Iy 14 2y 7 313 N h

s (2¥.(2)
123, 3 F[;] +[;] + .- to Infinite terins is equals to

13 2) 1) 3) 2 4) infinily
124, The sum of the first B tarmaof the sequence 1,3, 5,7, ... is

13 24 2y 36 3 49 4) 64
125, Hithe M term is the first negative term of the sequence

118, 115,112, .oiniee, ,thenn=

1) 38 7) 39 7 40 4y 41
126. The sum ofall multiples o'$ between 1 and 501 is

1y 25230 2y 5050 3y 254 4y 505
127. 9199 +000 + ... 1010 wms =

1! —10 10 —10° 102 10*2 —10
) y 10 n B o'
9 Q) 9 9

"128. Theleast positive integer that is exuclly divisible by 4, 6, 10, 12 is
1) 120 2) 60 3y 180 4) 30

129, I x —6++/335, then x+l=
X
12 2} 2435 3) 6 4y Jai

130. If 20} added to 73% of a number x gives the same number x, heh x =
1y 90 2) 100 3) 60 4) 30
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121. Two pipes P and Q can fill & bk in 6 hours and 12 hours respectively. [ both the pipes arc
turned on at the same lime, the time taken to fill the unk ia

1 1
1) dhours 2l 5Ehﬂurs 3 3ihnurs © 4) 3hours

132. A pipe can fill a tank in 4 howrs. Because of a hole in the tank, it takes 5 hours to 11l the tank.
T how much time the hole can enapry the {ull @ank ?
1) 10hours 2} 15hours ¥ 2 hows 4) 25 howrs

193. A car cover adistunce of 108 km in 75 nuimaes. Hithe speed of the car is redueed by 5 kmph, the
time it takes fo cover the same distance 15
13 80mimres ) 85 mimxes 3y 90 minmes 4) 120 mimaies

134. Two cars A, B start fram (he same point on perpendicular roads alaspeed of 60 kmph and
40 knph rezpectively. After 2 hours the shortest distance heiween the two cats 15
17 100km 2y 150 Jan 3) 200km 4y 250 km

135.1¢ 135 = 10 {mod 28), then x .-
1) 8 2) 12 3) 16 4) 18

136.77 208 = x (mod 15}, then x =
1 8 21 13 3) 5 4) b

137.1FN 15 the sct of ull natural numbets and

R={mm v N=N/imtn is an cven integer } then the relation Ron ¥ 12

13 relexivconty 2} reflexive and symmetric only
1) reflexive and transitve otly 4) equivalenverelation

138, The wxcending order of the rationsl L AL
18, The aswending order ol the rational numbers 2’ 147 16" 11

15 13_11_ 10 w1113 15
) - mmmo s ) st
la 14 12 11 1 12 14 1lé
'!;' 1--. ljﬁm'hl_ﬁ 4 E“_}E;lﬂ_}u
TR TR FRY: RVEETEE I MET’
13007 3% = x{mod 10) and 0 < ¢ <9, thenx=
1y 3 7) 9 3 7 4 3
140, The remainder obtained when the produgt 74x 75 76X 77 isdivided by 131s
7 7 9 3) 413
141, When an year is sélccted at rundom the probability that iLiga loap yeur is
3 L 5 | .
DT 2 ) 4 ) g
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142. When a pair of dice is thrown, the probability of petting spm § ix
1 3 7
R 2 44 A 16 AT

143.1f 4 coins ure tossed, the probahility of getting at least 2 heads ig

Lo 3 Nt N
) 14 ) 4 } 16 )3
144, The medianof the data

21, 19, 3542, 8, 7. 36, 45, 28 is

1) 21 7 33 3N I8 4 14
145, The mode of (e data

2"|l 4"|I 5: 3! 2'.! 31 41 2; 4; 51- 3| :’-. 2. 31. 4| 5.. 44. 3,. 4 55

1 3 N 5 3 2 a4

146.If 2 4 digit number is framed al random using the digies 1, 2, 4, 5, 6, thenthe prohability that it
1sdivisible by 215

1 3 5 28 ; 99 4 2
5 Y s ) 5 ' 5
147. The Anthmelic meun of the squares of the first # natural numbers is
air+1)i2n+1) n{n+1) nitt {n+D{2a+1)
1 : 5, B = 4) &
. . ‘ 1123
148, The probabilibes ol huppenning of 3 independentevents A, B, C ana respectvely 375
What is the probability of happenning of at least one of hern ?
4 13 4 1
1) 5 2 I L] m 4) 5

14%, The mean and mode ofa data are regpectively, 36 and 27 respectively. ‘Then the median of the
datles 1y
1} 3 2y 32 3) 23 4} 34

150. Ifthe letters of the word WISDOM are arranged at nmdom, than the prabability that the vowels
donot come topether 1x .

2 s ] 443
D 2 ar 3 3 KT

24



F SECTION-C T
! (Communicaton Ahility) Marks: 5

[Yirections for{151-155) : Fill int the blanks with the most appropriate word from the given choices:

151. Scientists believed that a vaccine derived fom chimpaneses may ___a safer way 10
present and treat smallpox.
1y product 2} provide 3} eliminate 4) deterniine

152. A/An ix a piisoner or caplive.
1] imem 2} iremes 3) interraer 4) imcrant

133, . by both financial und emotional problems, the father decided he had enough and
slipped away from the house quickly at dawn.
1Y pressuted 2y prind 3) besst 4) drowned

154. Contrary to popular belief, present day hislorians see the renaissance as an seonomic
and argue that u lot of peasants and urban poor, worsened during this penod.

1) progression 2) cvolutin 3) regression 4y tlexibility
155. Ho was orlered topay charpes totalling thirty million dollars last year.
1) fine 2} putitive 7y substantial 4} hups

Direction for (156-160): choose the word which is most nearly the same in meaning as the word or
proup of words wiven ih capitals in cach question,

156, CAPRICIOUSNESS
1} peseralagreement 2y puliibility 3) readiness lo obey 4y unpredicmbility

157. VIRTUOSD
1) auporfluty 2) shggidmess  3) lack of friendliness 4} cxpert perfotmer

158, 5 TUPETY
1) exinine 2y approve 3y rexhoce in intenzily 3} astourd

T59. RESCIND

1) drive away 2} support 3) cancel 4) waver
160. PROFLIGATE
1) unwiclly 2) catious 3} impudenitly taldng liberty  4) dissohste

25



C'hoose the right answer Lo {111 in the blanks (161-170)

161. W}uchmuluplcxmg rechnique tranamiis analog signals?

Iy FDM ?) Synchronous TDM 3) AsyncleosesTIIM ~ 4) Moo of these
162, The speed at which the monitor accepts data is called
13 Handwidth 2} Interlacing » Rﬂmh &) “cammg
163, Ay is
1y Complex data structure 2) Somphe dele e
3y Linear data structure 4} Non-Stiduin srechre

164. Inn which technique is data stored inseveral disk units by heealcme aemn o smaller picees and
storiny each pices in separate disk ¥
Iy EIN 2) RAIM 3) DISK 4) FLOPPY

165, Microcomputer hardware consists the following (hre bahe categgorics of phresical equipmenl.
1)  Keyboard, monitar, hard drive
2} Systemunit, Inpul/ Curput, Sccondary storape
1) Systemunit, Primary storuge, Secondary storagse
4} Noncof thes:

166, Tape 1 Irive mves seceds to data.
Iy Timely 2) Sporadic 3} Random 4) Sequential

167, Which of the following commands, would you use 1o change your password m UINLX system?
1) pass 2) chnpass 3) passwd 4) sl pass

168, A seripting language siovi tar io ind which runs only on a browser is
1) FORIRAN  2) Basic 3) FOXPRO 4) Javascript

169, Magmetic tape is not practical for applications where deta avest be quickly recalled becanse
tape is
1) A mndom acecss medium 2} Froapie sl casily demnapsed
3) Head only medinm 4) A sxpuestial access medium

170, In shell propramming, which of the following cormmmnds o waed for character trunshation 7
IR 7 dd 3) grep 4) scd

Directions{171-175): Each of the followiry has tour parts frrming a sfence. 1he error will
he found it one of the four purts. [dentify the part in which the emror geors.

171.1)  The judge asked the man 2] if the bag he had lost
3)  econtuin Gve thousand rupees 4) and the man replied that it did



172. 1) Tinzst youwill 2) show [orbesrsnee Lo me

3 sfewminutea more 4} sothat [ can [msh ths work
173. 1) Ihe grownd mnside thevillage ?) abowxding wih fows and snakes
3) theenemicsofmankind 4} is softand marvhy
174, 13 We areall short-sighted 2y and very oflen see bul e s1de of the mattcr
3y and our views are not extended 4) to all that hus u connection with it
175, 1) Just lasvs are no restraint with 2) the freedom of the pood
3) forthe pood man desires nothing 4} which ajust law interfers with

Directions (1 76-180): Each of'the following semtences may have one or two or three mistakes or have
noue atall, Mark (1) ifthere iz one mistake, (2) if there are two mistakes, (3)1 there are three mistakes
and (4) ifthere are no mistakes,

176, T'he commities was divided in fta opinion reganding this issue.

177. Amongyouand me, he is definitelyin the wimng.

178, The leacher drew twe radn.

179, IMNMwere him, I would not misbehave hike ths,

180. Herdly. the judpe enlered the court roem, then adyocates stood up and grected him.

Directions (181-185): inthe following passage there arc hlanks, each ol which has been numbercd,
These nurmbers are printed below the passape and againgt each, four wordz are given, ome of which [ts
the blank appropriately. Find out the appropriate word in each case,

For the past 35 yeurs u professor of Zoology named Valerio Sbordoni has explored the cuves und
underground chambers of Mexico in search of new forms of e, TTehas fouwnd these inabundance to
sy (he kst To date Shordoni has discovered inore than 1530 speciesof (181)unknown
cave dwelling creatures. In one chamber  (182) ke found over forty . (183
species of butterily, an incredible variety for such an inhospitable environment. Many ofthese species,
Sbordom believes _ (184) underground millions ofyears ago to avold oxtinetion and adapled
te: life beneath the earth’s surface. Ohvieusly conditions for lile underground are far from ideal, and
Shardoni believes that only severe climatic changes, probably cansed by shifting gluciers, could
{(185) vuch amigration.

181. 13  hitherle 2) herehy 3) henceforth 4} herewith

182, 1%, exchsivdly ) only 3) aulome 4 solly



183, 1) dissimitar ) distinst 3) dip——— 4) disconnceted
184, 1) rctired 2) shrank 3) retresied 4) deparied

1%5. 1) comjure-up 7y aceonntfor  3) bow oAl 4) carry off
Diirections { 186-193): Read the following pussage car=fully and mewer the questions given below it.

By ihe time achild is she ar seven ches hias a1 the essentinl avodances well enough by heart 1o be
crusted with the care of a younger child, And she also developsa pramber of simple techniques, She
learns to weave firm square balls [rom palm leaves, to paake pirwheels of palm lesves or frangipani
hlossoms, to climb a coconut tree by walking up the trumtk oo Dexdok: Enle Feet, to bredk open a cocomd
with one firm well-directed blow of a knitizas long us she ia tall, s play a mumber of group games and
sing the sonps which go with them, to tidy the house hy pcking up e lirtes on the stony {lour, 1o bring
water from the sew, to spread out the copra to drj{u:ﬂtﬂhdpgﬂﬂitiﬂwiﬂﬂiﬂthmﬂtensﬁtﬂ 0 ta
a neighburing house ud bring huck a lighted faggot for (e chiefs pipe of the couk-house [irs,

But in the cuse of the litde girs all these tasks are mercly swpphamontary to the muin buginess of
baby-tending. Very small hays also have sorme CAre of the younger children, b at eight or Tl YCAars
of upe they are usually relieved of iL. Whatever rough edges have nol been smoothecd off by this
resporsibility for younger childrer are woth off by (heir coptact with older buys. For little borys nre
wlraitted to interesting and inportant activities only so Loy e theeir bchervaour s ciroumspect and belpfil -
Where small gitls are brusquely pushed aside, smull boys will be pationtly ioberated and they hecome
adept armaking themselves useful. The four ar five little boys who all wish to ssist at the important,
husitiess of helping 3 growr youth lussa reef s, organine themsebves i a highty eflicient working
toarn; une boy holds the bait, mother holds an extra lasso, others poke eagrxly about in holes in the reel
looking for prey, while stll anather Lucks the captured ecls mbo his brvakava, The small girls, burdencd
with heavy babies orthe care of little slagpercrs who are tor sl to-advenbure o6 the reef, discouniised
by the hostility of the stnal| bays and the seorh of the vldes ones, have litte oppormunity for learning the
mote adventurous forms of work and play. So while the lirthe baorys first Lmudergn the chastening effects
of haby-tending imd then have many oppotiuntties (0 leam offocuve cooperation ukker the SUpCrVision
of older boys, the girls’ education is less comprehensive. They have 2 high standard of individual
responsibility, bt the community provides them with no bemcamt i cooperation with one another. Thisis
particutarly apparent in th achi vilies ofyoung people: the boys orgize quickly; the girls wiste hours in
bickering, innocent of uny technique for quick and efficiont cooperaon

186. The primary purposc of the passage with refirence to the sociely under discussiorn is to
. explain some differences i the upbringing of girks mud boys
2y criticize (e doficiencies inthe education of s
3) g.i-.feammpmhmsivcmﬂumnfaduyimhcﬁﬁ:ufmawwunggjrl
4y delineate the role ol young girls

187. Theword ‘beusquely’ most nearly Heans
1) quickly ) genty 3) ooxhalantly 43 ubeoptly



188. Thelist otechniques in parsgraph one could best be descrihed as
10 household dubies
2)  nudimentary physical gkills
3)  usefulsoctl skitls
4)  impottant respotsibilities

18Y, Iican be infimed thut the *high statklerd of individual responsibility” is
1} developed mainly throuyh chifd-care disties
2)  only presetit in prirls
3) taughi tu the girl before she is citrusted with babics
4)  sctally countetprodnciive

190 Little girls ure deprived ol learning the adventaros forms of sciivites becaiss
1) they don't show interest in (he outdoor activities
2)  they are interesied in rossiping
3) they are snubbed and not allowed to take pan in the activities
4)  they are interesicd in doing hovsshold chores

181, Youny boys leam lo organize quickly
1) they are superiof to jrrds in tonns of menial and phyzical Sirenyth
2} they are provided with many chanees 1o lein to coexist
3 they have farmal cducation in these matiors
4)  they don'thave to take carc of the youngerchildren at all

192, Theexpression “innocent of” 1s hest taken to méem

I motyikyot 2) unskilledin’
3) unsiited [or 4} umrwvobvod jn
193, Ilcan beinfarved thal in the cammunily inder discussion all ofthe following: are important cxcept
1}  domeshc handicratiz 2} well-defined socinl structur:
3) (ishing=kills 4) fomal education

194, Whick of the following if troe would wesken the author's comtgntion aboul ‘lessons in
cooperation?
L. Group games played by younger pitls irvolve cooperation
0. Girls can loarn fom watching boys cooperating
= T Individual girls coaperate with their mothers n looking after babies

1) 1 only | 2y 11 only
3} Tand I only 4) LI and 1M



195, Whichofthe following is the best desetiption ofthe author’s teofmique i handling her material 7
1} Bothdescription and interpretation of obscrvations
2y  Proseotation of facts withuut commenl
1) Generalization from a particubir viewpoint
4) Close examination of preconceplions

Directions: {196-200): Tn the following pussage there ure blanks cach of which has been aumbered.
These numbers are printed below the passage and azainst each, four words are sugprested anc of
which fits the blank sppropeiataly in the context of the winle passage. Fiud out the sppropriate words.

A eombination of boredom and, increasingly, absemesism, ensured tht the standard e[Enc’s

wark declined alarmingly. Sadie, who had hoped that her son wowld do well ar schocl, was too
{1963, a mather to have remained, unaware of the problem for very fong, but when the

schoo! reports started to (197, just how poorly be was faring, she felt shocked and anpry,

(e repotl (198} curtly that Eric was 45® pul of 49 pupils. Sadie, typically,
wis detarmined that her son should arrest his dizzying decline a5 speedily as possible and then - she
hoped - start to improve. She visited the scheol and offered 10 pay for further tuition but was Lold,
it wonsld be money down the diain’, This rejection only sceted to _{199) Sadie on inhet
aparch for a suitable career for Eric, B surprised no one whe kiew her that she reacted to the undemably

(200) disappoiniment of this setback in such 2 remarkably spicited and pOSitive meEner,

196, 1) engrossad 7) mincfil
3 tiveted 4) attentive
197, 1) proclaim 2} advocate
1 denote 4y utderline
198. 1} professed ) smtoumeed
3} aired 4) tiered
199, 1} spr 2) press
1) moile 4) boost
200. 1) vivd " 2) stark

3) bt 4) hard



